= 46917 MAX. FRAME WIDTH

- 35 3/4'MAX
PANEL WIDTH

1) THE PRODUCT SHOWN HEREIN IS DESIGNED AND MANUFACTURED TO

COMPLY WITH REQUIREMENTS OF THE FLORIDA BUILDING CODE INCLUDING

#3

THE HVHZ.

i
P NOTES:
2) STEEL FRAMING AND CONCRETE OPENING TO BE DESIGNED AND ANCHORED
m TO PROPERLY TRANSFER ALL LOADS TO STRUCTURE. FRAMING AND

CONCRETE OPENING IS THE RESPONSIBILITY OF THE ARCHITECT OR

/
I
[ ENGINEER OF RECORD.
a | 3) BUILDING GIRT AND OPTIONAL INTERMEDIATE BUILDING GIRT TO BE

DESIGNED AND ANCHORED TO PROPERLY TRANSFER ALL LOADS TO
STRUCTURE. BUILDING GIRT AND OPTIONAL INTERMEDIATE GIRT ARE THE
SEE JAMB EXTENSION RESPONSIBILITY OF THE ARCHITECT OR ENGINEER OF RECORD.
ASSEMBLY DETAILL, 4) ALLOWABLE STRESS INCREASE OF 1 /3 WAS NOT USED IN THE DESIGN OF
i OPTIONAL Z-CLIP AND THE PRODUCT SHOWN HEREIN. WIND LOAD DURATION FACTOR Cd=1.6 WAS
86 12" O e Al USED FOR WOOD ANCHOR CALCULATIONS.
MAX. I 5) FRAME MATERIAL: FORMED 16GA. (.053" MIN.) GALVANNEALED STEEL.

FRAME 83 1/8” m 6) DOOR PANEL MATERIAL: FORMED 18GA. (.044" MIN.) GALVANNEALED STEEL.

HEIGHT ﬂmwwm - 7) APPROVED IMPACT PROTECTIVE SYSTEM IS NOT REQUIRED FOR THIS

HEIGHT -1 = PRODUCT IN WIND BORNE DEBRIS REGIONS.
I 8) EACH PANEL IS FITTED WITH THREE HINGES LOCATED AT 6" MINIMUM UPTO

10" MAXIMUM FROM EACH END WITH ONE AT PANEL MIDSPAN.

HARDWARE SCHEDULE
38’ MIN

0 . ML 1300 MORTISE LOCK BY TELL MANUFACTURING, INC.
e . B . STEEL SURFACE BOLTS 988Y BY YALE SECURITY, INC.
. SEE FLOOR BASE ANGLE . STEEL ASTRAGAL 140° THICK BY TELL DOORS & WINDOWS, LLC
DETAIL SHEET 2 . STEEL HINGES H4545 BY TELL MANUFACTURING, INC,

. ALUMINUM THRESHOLD 1/2* HIGH BY HOUSTON NON-FERROUS

>

mio|lO|

Fn

TABLE OF CONTENTS

. SHEET NO |DESCRIPTION
0,7308° MAX 2177 0.7308" MAX
0.C. TYP. AX 0.1217" 0c TYp ELEVATION, ANCHORING LAYOUT AND NOTES

1
MAX 2 DETAILS AND NOTES
TIOGA DOORWAY SYSTEM TDS-D-KD-WS 3 BILL OF MATERIALS AND CROSS SECTION
EXTERIOR VIEW 4 CROSS SECTION
DESIGN PRESSURE RATING IMPACT RATING 5 - g INSTALLATION DETAILLS
+ SOPSF 7 - 8 |cOMPONENTS
THIS SYSTEM WAS NOT TESTED FOR WATER LARGE AND SMALL
INFILTRATION AND IS TO BE INSTALLED ONLY MISSILE IMPACT Robert J. Amoruso, P.E.
WHERE THE WATER REQUIREMENT IS NOT NEEDED. Florida P.E. No. 49752 TRAFTER DATE TELL DOORS & VINDOWS. LLC
Digitally 29505 WEST 11TH STREET, HOUSTON, TEXAS 77008
o %_Mmm..m..w...uwes signed by CHECKED DATE S_—
SRS Robert J TIOGA DOORWAY SYSTEM TDS-D-KD-WS
£ | hE 2 ENGINEER SATE 0S STEEL DOUBLE DOOR - IMPACT
iy _w\u\n Amoruso ELEVATION. ANCHORING LAYOUT AND NOTES
H\\\WW,MA.; E Mﬂ%ﬁuu Date: TJH 06/03/10 !
SIS 5017.04.07 APPROVED DATE Sl DWG
|_| m _, _l —/\_ —||| m THIS DOCUMENT IS THE PRIPERTY OF SPECTRIM RO ARG V4. . w 08-01018
CNENTS, G THs. DOLOMENT Al CON ChENTIAL 13:06:10 -04'00 R.JA.B/20/17
mumnﬂqca Hardware & %§%=§W§unnf_§ PTC PRODUCT DESIGN GROUP, LLC THIRD ANGLE PROJECTION TI :/_}_l w
Brands | Homelmprovmen [IEEEIRIME | oopiminio | g homoe— s




HINGE JAMB

INSTALLATION ANCHORS

SPOT WELDED

M TO FRAME
s

CLIP IS SPOT
WELDED 1D
CHANNEL

INTERIOR HINGE JAMB 1/
m X

\
= INTERIOR
N INSTALLATION \o
EXTERIOR ANCHERS
FLOOR BASE ANGLE DETAIL
INTERIOR =
_ ‘\\

eege? ™ |

EXTERIOR

\/\
JAMB EXTENSION ASSEMBLY DETAIL

EXTERIOR

4

CLIP IS SPOT
WELDED TO JAMB

\ILbzw
CORNER CONSTRUCTION DETAIL

\| JAMB

TO JAMB

OPTIONAL HI-HAT ANCHOR CHANNEL DETAIL

HI-HAT IS
/ SPOT TO WELDED
\ = TO JAMB
Z-CLIP IS \
SPOT TO WELDED
,// \\

OPTIONAL Z-CLIP ANCHOR C

NOTES:
1) FOR ANCHORING JAMB EXTENSION ASSEMBLY TO 16GA. (.060" MIN.) STEEL FRAMING USE 5/16"-18 BOLT WITH 5/16"-18 NUT
AND 5/16" WASHER. BOLT TO BE OF SUFFICIENT LENGTH TO ACHIEVE 3-THREADS MINIMUM BEYOND NUT. LOCATE ANCHORS
AS SHOWN IN ELEVATIONS AND INSTALLATION DETAILS.

2) FOR ANCHORING OPTIONAL Z-CLIP AND HI-HAT ANCHOR CHANNELS TO 16GA. (.060" MIN.) STEEL FRAMING USE (2) 5/16"
SELF TAPPING SCREWS OR (4) #12 TEK SCREWS, BOTH OF SUFFICIENT LENGTH TO ACHIEVE 3-THREADS MINIMUM BEYOND
ANCHOR CHANNELS. LOCATE ANCHORS AS SHOWN IN ELEVATIONS AND INSTALLATION DETAILS. SEE NOTE SHEET 6.

3) FOR ANCHORING FLOOR BASE ANGLE INTO CONCRETE USE:

- 5/16" MINIMUM 90' L-BOLT SET IN CONCRETE WITH 5/16" NUT AND WASHER. BOLT TO BE OF SUFFICIENT LENGTH TO ACHIEVE
6" MINIMUM EMBEDMENT INTO CONCRETE AND 3-THREADS MINIMUM BEYOND NUT AND WASHER WITH 2 3/4" MINIMUM EDGE
DISTANCE. 90' L-BOLT TO BE MINIMUM A36 STEEL.

- 3/8" HILTI KWIK BOLT 3 OF SUFFICIENT LENGTH TO ACHIEVE 2 1/2" MINIMUM EMBEDMENT INTO CONCRETE WITH 4 1/2"
MINIMUM EDGE DISTANCE

- 3/8" WEDGE BOLT OF SUFFICIENT LENGTH TO ACHIEVE 2" MINIMUM EMBEDMENT INTO CONCRETE WITH 4 1/2" MINIMUM EDGE
DISTANCE.

- 5/16" ITW TAPCON OF SUFFICIENT LENGTH TO ACHIEVE 1 3/4" MINIMUM EMBEDMENT INTO CONCRETE WITH 3 3/16" MINIMUM
EDGE DISTANCE. LOCATE ALL ANCHORS AS SHOWN IN ELEVATIONS AND INSTALLATION DETAILS.

4) FOR ANCHORING THRESHOLD INTO CONCRETE USE 3/16" ITW TAPCONS WITH SUFFICIENT LENGTH TO ACHIEVE A 1 3/4"
MINIMUM EMBEDMENT INTO SUBSTRATE WITH 2 /4" MINIMUM EDGE DISTANCE. LOCATE ANCHORS AS SHOWN IN ELEVATIONS
AND INSTALLATION DETAILS.

5) FOR ANCHORING JAMB EXTENSION ASSEMBLY, FLOOR BASE ANGLE, OPTIONAL Z-CLIP ANCHOR CHANNEL OR OPTIONAL
HI-HAT ANCHOR CHANNEL TO WOOD SUBSTRATE USE 5/16" LAG SCREW WITH MINIMUM EMBEDMENT OF 1-3/4", MINIMUM
EDGE DISTANCE OF 1-1/4" AND MINIMUM SPACING OF 1-1/4". LOCATE ALL ANCHORS AS SHOWN IN ELEVATIONS AND
INSTALLATION DETAILS.

6) WASHERS SHALL BE USED WHEN ANCHORS ARE INSTALLED IN OVERSIZE HOLES (CLIP HOLE DIAMETER 1/16" GREATER
DIAMETER THAN ANCHOR DIAMETER).

7) MINIMUM 2 ANCHORS PER JAMB EXTENSION ASSEMBLY, FLOOR BASE ANGLE, OPTIONAL Z-CLIP ANCHOR CHANNEL OR
OPTIONAL HI-HAT ANCHOR CHANNEL FOR ATTACHMENT TO SUPPORTING SUBSTRATE.

8) ALL FASTENERS TO BE CORROSION RESISTANT.

9) INSTALLATION ANCHORS SHALL BE INSTALLED IN ACCORDANCE WITH ANCHOR MANUFACTURER'S INSTALLATION
INSTRUCTIONS, AND ANCHORS SHALL NOT BE USED IN SUBSTRATES WITH STRENGTHS LESS THAN THE MINIMUM STRENGTH
SPECIFIED BELOW:

A.WOOD - MINIMUM SPECIFIC GRAVITY OF G=0.42 (NON-HVHZ) AND G=0.55 (HVHZ). Robert J. Amoruso. PLE.

B. CONCRETE - MINIMUM COMPRESSIVE STRENGTH OF 3,192 PSI. Florida P.E. No. 49752

C. STEEL FRAMING, 16GA. (.060" MIN.)

Digitally signed
by Robert J

Date:
2017.04.07
13:06:57 -04'00'

PTC PRODUCT DESIGN GROUP, LLC
PO BOX 520775 | LONGWOOD, FLORIDA 32752
FBPE C.A. NO. 25935
Phone: 321.690.1788 | Email: inffo@ptc-corp.com

ORAFTER DATE TELL DOORS & WINDOWS, LLC.
2505 WEST 11TH STREET, HOUSTON, TEXAS 77008

CHECKED DATE

TITLE TIOGA DOORWAY SYSTEM TDS-D-KD-WS
ENGINEER e 0S STEEL DOUBLE DOOR - IMPACT

DETAILS
TJH|06/03/10 AND NOTES
S1ZE DWG

HANNEL DETAIL TELL MFG e 0 1% B " 08-01018

Spectrum | tordwores SERIBEISEIEEL T THIRD ANGLE PROJECTION [Fo STATE CTNAL mmw TER

CONSENT,

rovemen * PRI
Brands Home Imp } [VITHOUT SPECTRIN BRANDS' PRIR RITTEN @lm| ST T [SHEET

~ m— A



(I I NI N I 4 [ S

NO.| PART NUMBER DESCRIPTION MANUFACTURER MATERIAL

1 |T-1.31 TIOGA KD HEAD JAMB 16GA. TELL MANUFACT. | GALVANNEALED STEEL
e | T-1.2 TIOGA KD HINGE JAMB 16GA. TELL MANUFACT. | GALVANNEALED STEEL
3| T-17 THESHOLD, 1/2*“ HIGH HOUSTON NON-FER. | ALUMINUM 6063-T5
4 [ T-1.2.2 FRAME HINGE REINFORCEMENT 10GA. | DAYTON INDUSTRIES| GALVANNEALED STEEL
o.|T-111 TIOGA BOTTOM DOOR SKIN 18GA. | TELL MANUFACT. | GALVANNEALED STEEL
6 |[T-112° TIOGA TOP DOOR SKIN 18GA. TELL MANUFACT. | GALVANNEALED STEEL
71 T-113 TOP CAP DOOR CHANNEL 20GA. | TELL MANUFACT. | GALVANNEALED STEEL
8 | T-11.4 TOP DOOR CHANNEL 16GA. TELL MANUFACT. | GALVANNEALED STEEL
9 [T-115 BOTTOM DOOR CHANNEL 16GA. TELL MANUFACT. | GALVANNEALED STEEL
101 T-1.1.6 DOOR HINGE REINFORCEMENT 10GA. |DAYTON INDUSTRIES | GALVANNEALED STEEL
111T7T-11.7 DOOR FOAM CORE 1 LB/FT DENSITY POLYSIYRENE

12|/ T-1.1.8 DOOR CLOSER REINFORCEMENT 12GA. | TELL MANUFACT. | GALVANNEALED STEEL
13(T-1.1.10 MORTISE LOCK REINFORCEMENT 14GA.| TELL MANUFACT. | GALVANNEALED STEEL
14/ 7T-1.1.11 OVERLAP STRIP ASTRAGAL 11 GA, | TELL MANUFACT. | GALVANNEALED STEEL
15| T-11.12 INACTIVE DOOR EDGE CHANNEL 16GA.| TELL MANUFACT. | GALVANNEALED STEEL
16(T-12.3 HINGE JAMB CLIP 12GA TELL MANUFACT. | GALVANNEALED STEEL
1717T-1.2.4 FRAME WEATHERSTRIPPING FOAM

18| T-1.5 HINGES - H4545 SERIES TELL MANUFACT. | STEEL

191 T7T-1.68 MORTISE LOCK ML 1300 TELL MANUFACT. | STEEL
20]2988Y SURFACE BOLT YALE SECURLY | STEEL

21| T-1.8 DOOR SWEEP, DT100101 TELL MANUFACT. | ALUMINUM 6063-T5S
ee| -2 JAMB EXTENSION ASSEMBLY 16 / 12GA | TELL MANUFACT. | GALVANNEALED STEEL
23 FLOOR BASE ANGLE GALVANNEALED STEEL
24|81 #12-24 X 1 1/74* HEX HEAD TEK STEEL

25| B1 5/16°-18 X 3/4* HEX CAP SCREW STEEL

26(Nl1 HEX NUT 5/16” STEEL

27| Wl FLAT WASHER 5/16" STEEL

28|S2 #8-32 X 1/2° PPH SMS STEEL

29|Se #14 X 1/2* PFH SMS STEEL

30(S3 #10-24 X 1/2” UC PFH SMS STEEL

31 HI HAT ANCHOR CHANNEL 16GA, | TELL MANUFACT, | GALVANNEALED STEEL
3¢ Z CLIP ANCHOR CHANNEL 16GA | TELL MANUFACT, | GALVANNEALED STEEL

O0000Q
OOCO000O0
QRO 0B 0O

@)

|

EXTERIOR

VU O U U U T U U
0000000000
00000000 ¢
0000000000
CHOHCHONONCNONCHON

i A

INTERIOR

T Yy

VERTICAL CROSS SECTION

Robert J. Amoruso, P.E.
Florida P.E. No. 49752

Digitally signed
by Robert J
Amoruso

Date:
2017.04.07
13:07:09 -04'00'

PTC PRODUCT DESIGN GROUP, LL.C
PO BOX 520775 | LONGWOOD, FLORIDA 32752
FBPE C.A. NO. 25935
Phone: 321.690.1788 | Email: info@ptc-corp.com

TELL DOORS &

WINDOWS, LLC,

2305 WEST 11TH STREET, HOUSTON, TEXAS 77008

TITLE

Spe

el MEG

Brands

ctrum

Hardware &
Home Improvement

THIS DOCUMENT IS THE PRIPERTY [F SPECTRLM
BRANDS, INC AND/TR ITS AFFILIATES. THE
CONTENTS OF THIS DOCUMENT ARE CONFIDENTIAL

CONSENT,

TIOGA DOORWAY SYSTEM TDS-D-PA-WS
OS STEEL DOUBLE DOOR - IMPACT
BILL OF MATERIALS AND CROSS SECTION

S1ZE

B

DWG
NO

08-01018

DRAFTER DATE
CHECKED DATE
ENGINEER DATE
TJH|06/03/10
APPROVED DATE
R.JA B/20/17
THIRD ANGLE PROJECTION

RELEASE STATE

F INAL

REV TER

B

SCALE

AT O

[ SHEET

e T o T o o Y



O

O

O

HORIZONTAL CROSS SECTION

INTERIOR

Robert J. Amoruso, P.E.
Florida P.E. No. 49752

,,,,,M,w._mm.m..w...nwws Digitally signed
SSCENEe%% by Robert J

,,i

_ ."w

2, m.;ﬁnn Date:
» LU

S onetST  2017.04.07
), sww.\o NAL B

™ 13:07:22 0400

oé;

S

e,

d »

(TS
\\\“
YoB

PTC PRODUCT DESIGN GROUP, LLC
PO BOX 520775 | LONGWOOD, FLORIDA 32752
FBPE C A NO. 25935
Phone: 321.690.1788 | Email. info@ptc-corp.com

TELL MFO peessmpes

CONTENTS [F THIS DOCUMENT ARE CONFIDENTIAL
AND CONSTITUTE TRADE SECRETS PROPRIETARY

Hardware & Ty TS S I Do Doy o o
mu ”ﬂ._ﬂwub.—m—m.—.— Home Improvement %&%@%ﬁ FISED

DRAFTER DATE TELL DOORS & WINDOWS, LLC.
2505 WEST 11TH STREET, HOUSTON, TEXAS 77008
CHECKED DATE
TITLE
TIOGA DOORWAY SYSTEM TDS-D-KD-WS
ENGINEER DATE OS STEEL DOUBLE DOOR - IMPACT
CROSS SECTION
TJH 06703710

APPROVED DATE St WG

R l3r20/17 | B 08-01018

REV TER

THIRD ANGLE PROJECTION

=

RELEASE STATE

FINAL

B

SCALE NI T < |

[SHEET , - o



=
\(
R~

5/16" BOLT WITH 5/16" NUT AND
WASHER. BOLT MUST BE 3-THREADS INTERIOR
BEYOND NUT MIN. ENGAGEMENT _
—
/ u
[ “ |, — FLOOR BASE ANGLE
BUILDING GIRT e
BY OTHERS EXTERIOR
—_— <.
CONCRETE FLOOR |
BY OTHERS
JAMB EXTENSTION >
ASSEMBLY
— 5/16" MINIMUM 90' L -BOLT SET IN CONCRETE
Al N WITH 5/16" NUT AND WASHER. BOLT TO BE SET
As Ar 6" IN CONCRETE MIN. AND HAVE 3-THREADS MIN.
BEYOND NUT MIN. ENGAGEMENT AND 2 3/4" MIN.
EXTERIOR |HZ._.mmHD_N EDGE DISTANCE OR
3/8" HILTI KWIK BOLT 3 WITH 2 1/2" MIN.
VERTICAL CROSS SECTION EMBEDMENT INTO CONCRETE AND 4 1/2"
FLOOR BASE ANGLE TO MIN. EDGE DIST.
CONCRETE FLOOR INSTALLATION
Robert J. Amoruso, P.E.
Florida P.E. No. 49752
e, Digitally signed
%M...%.«.ﬂ.o..mﬁ%«wmwoo by Robert J
£ "2 _52% Amoruso
OPTIONAL BUILDING i Date:
® < INTERMEDIATE : ate
GIRT BY OTHERS 2017.04.07
13:07:34 -04'00'
/ 5/16" BOLT WITH 5/16" NUT AND PTC PRODUCT DESIGN GROUP, LLC
o WASHER. BOLT MUST BE 3-THREADS P ePE CA NG zosas
BEYOND NUT MIN. ENGAGEMENT Phone: 321.690 Qmm. mam_.__. info@ptc-corp.com
DRAFTER DATE
TELL DOORS & WINDOWS, LLC.
2905 WEST 11TH STREET, HOUSTON, TEXAS 77008
CHECKED TATE
TITLE
TIOGA DOORWAY SYSTEM TDS-D-KD-WS
JAMB EXTENSTION ENGINEER DATE 0SS STEEL DOUBLE DOOR - IMPACT
ASSEMBLY TJH om\ow\gmnm szq.buwar}.:mz DETAILS
As As |_| m _| _I _/\_ T| m APPROVED DATE NO
VERTICAL CROSS SECTION TR D RO/ TS HELITG. T R.UA B/20/17 w D mw - D H O H mw
CATHIS 6% i 4 Eatpomy Sl TR VTR
JAMB EXTENSION ASSEMBLY TO m 0 SPECTRUM BRANDS. NETTHER THIS DOCUMENT
METAL BUILDING INSTALLATION uwﬂﬂ—‘—.——s Hardware & p s covons swi ke wsaoepway | THIRD ANGLE PROJECTION FINAL B

Brands Home Improvement v secr siuas’ s vt @lﬂl SCALE NTT < | [ SHEET

= Mmoo



s
EXTERIOR L

CONCRETE FLOOR

((((_((J(Q
/

INTERIOR

L — FLOOR BASE ANGLE

-

BY OTHERS 1/// _

5716 IlW TAPCON WITH 1 3/4” MIN,
1i— EMBEDMENT INTO CONCRETE AND

3-THREADS BEYOND __|
CLIP MIN., EMBEDMENT

3-THREADS BEYOND __
CLIP MIN. EMBEDMENT

=~ INTERIOR

INTERIOR FINISH

Z-CLIP ANCHOR  —p\
WELDED TO FRAME

(@ 5/16* SELF ™

TAPPING SCREWS OR
(4) #12 TEK SCREWS,
SEE NOTE SHEET 6

WA

Z -CLIP ANCHOR —1
WELDED TO FRAME

/
“

////upmm> MIN.,

STEEL FRAMING

/

N\

~=—INTERIOR

HI-HAT ANCHOR

EXTERIOR EXTERIOR FINISH

HORIZONTAL CROSS SECTION

WELDED TO FRAME

(2 35/16" SELF —\
TAPPING SCREWS OR
(4) #12 TEK SCREWS,
SEE NOTE SHEET 6

N 3 3/16" MIN, EDGE DIST. OR
VERTICAL CROSS SECTION
FLOOR BASE ANGLE TO
3/S" WEDGE BOLT ANCHOR WITH 2° MIN.
EMBEDMENT INTD CONCRETE AND
41 /2" MINIMUM EDGE DISTANCE
VERTICAL CROSS SECTION
FLOOR BASE ANGLE TO
CONCRETE FLODR INSTALLATION
1<>
EXTERIOR P00 Y iNtERmR
D O O
O .0
D O O
D © O © O
O _ O
3/16" 1V
TAPCON

CONCRETE FLOOR

BY OTHERS

2 5/8" MIN
EDGE DIST

VERTICAL CROSS SECTION

SILL TO CONCRETE FLDOR INSTALLATION

M

HI-HAT ANCHOR —1

NOTE:

/ OR STACKED

/l 16GA MIN,

STEEL FRAMING

WELDED TO FRAME

///a EXTERIOR FINISH

EXTERIOR

HORIZONTAL CROSS SECTION

OPTIONAL HI-HAT ANCHOR CHANNEL INSTALLATION

OPTIONAL Z-CLIP ANCHOR CHANNEL INSTALLATION

HI-HAT AND Z-CLIP ANCHOR CHANNELS
MUST BE INSTALLED USING EITHER (2>
S/16* SELF TAPPING SCREWS OR (4>

#12 TEK SCREWS EITHER SIDE BY SIDE

Robert J. Amoruso, P.E.
Florida P.E. No. 49752

Digitally
0\ 24,, .

Fodtndly, sioned by

) ~%% Robert )

Amoruso
Date:
2017.04.07
13:07:44 -04'00
PTC PRODUCT DESIGN GROUP, LLC

PO BOX 520775 | LONGWOOD, FLORIDA 32752

FBPE C.A. NO. 25935
Phone: 321.690.1788 | Email: info@ptc-corp com

TelL

muwﬂﬂ—ﬁ_—.—.— _._nas_uaw GBS RNEUSL, | THIRD ANGLE PROJECTION
Home mprovement %%ﬁ;ﬁgzﬁs % m

Brands

ORAFTER PATE TELL DOORS & WINDOWS, LLC.
2505 WEST 11TH STREET, HOUSTON, TEXAS 77008
CHECKED DATE
" TI0GA DOORWAY SYSTEM TDS-D-KD-WS
ENGINEER DATE O0S STEEL DOUBLE DOOR - IMPACT
T UHb6/03/10 INSTALLATION DETAILS
APPROVED TATE St DG
ME G B R ol R T RuABr20/17 | B 08-01018

AND CONSTITUTE TRADE SECRETS PRIPRIETARY RELEASE STATE

REV TER

- INAL B

SCALE N T <

[

}SHEET » - o



et 8 1/4* —
R 7/32" —w— |-
“ ! 1/8 340
j ﬂ « (REF>
n [-=
2 we ‘ \" _‘| 5/16 7,87 +
! 9/16"(REF> ﬁﬂ
“ 1 59/64*
‘ @ TIOGA TOP DOOR SKIN w « *
mnﬂw 5/8° 18GA STEEL .044*MIN, THICK @ FRAME WEATHERSTRIPPING
= LEFT END SHOWN, RIGHT END IS SIMILAR @ DOOR SVEEP COAM
—= 2 18’ 4* — 2 1/8" |-— »
TIOGA KD HEAD JAMB AL UMINUM momwmww%% MIN. THICK
TIOGA KD HINGE JAMB 1 37/64" «
16GA. GALVANNEALED
STEEL .053” MIN, THICK = ﬁ 533"
w —=1 1 27/32" |=a—
TOP CAP DOOR
CHANNEL i 1 31/32°
20GA GALVANNEALED )
STEEL .036” MIN. THICK (222277 rrr7a 59/64
* -1 43/64" ‘ OVERLAP STRIP INACTIVE DOOR ‘
_ASTRAGAL EDGE CHANNEL
11GA GALVANNEALED 16GA GALVANNEALED
STEEL .123* MIN, THICK STEEL .053” MIN. THICK
23/32"
(3)_THRESHOLD 1/2* HIGH Robert J. Amoruso, P.E.
Florida P.E. No. 49752
ALUMINUM 6063-T5 ,105* THICK *
Q TOP DOOR CHANNEL Digitally signed
16GA GALVANNEALED by Robert J
STEEL .053” MIN. THICK AMoruso
Date:
— e’7/64”" 2017.04.07
— 5/16” 1 43/64" 13:07:55 -04'00
« *’ PTC PRODUCT DESIGN GROUP, LLC
= PO BOX mmo.\mw*_u_mnwz\m,nnouOMcm.wﬂwox_U> 32752
’ m m mw\wmu Phone: 321.690.1788 | Email: info@ptc-corp.com
1-45/64 » PRAFTER DATE TELL DOCRS & VINDOWS, LLC.
* 1/8 BOTTOM DOOR CHANNEL — e 2505 WEST 11TH STREET, HOUSTDN, TEXAS 77008
16GA GALVANNEALED "™ 7ID0GA DOORWAY SYSTEM TDS-D-KD-WS
@ TIOGA BOTTOM DOOR SKIN STEEL 033" MIN. THICK ENGINEER DATE 0S STEEL DOUBLE DOOR - IMPACT
TJH [ 06/03/10 COMPONENTS
18GA GALVANNEALED STEEL .044” MIN, THICK STZE VG
APPROVED DATE NO
LEFT END SHOWN, RIGHT END IS SIMILAR |_|m~|_l M ﬂm e et ey s g < idareoss 08-01018
O SPTR TRANDS NETEER THIS DOLCH ELEASE STATE EV JTER
muwﬂﬁ—.ca Hardware & T s S it tot [ THIRD ANGLE PROJECTION FINAL B
Brands Imp b ey sems v @Iml SCALE N « [SBhe_pn_note S 2 —



—
9/32 —— | =—-m—
| 3 7/8* [ _
® e \
1 1/2° — -~ OOO
« !
o mu o mw > °° =
1 3/74*
« ° ° o 9/32" \V‘ -
-cLIp A 1 oo |
2 3/87 oo
o OOO
—= 4 1/8" o o
CHANNEL: '
[«}
............. @ O
! N » °oo 1 10*
3 1/2° CLIP —— - 1 1/4” o
+ N_ cLip .
I m @ DOOR HINGE REINFORCEMENT
m 10GA, GALVANNEALED STEEL .138“MIN. THICK 00
! © 0 |
CLIP IS SPOT WELDED
TO CHANNEL 5 1/8* — ] ] 1/4"
\s (4> PLACES MINIMUM «
CHANNEL: — @ FRAME HINGE REINFORCEMENT
r/ | 3/4r 10GA. GALANNEALED STEEL .138° MIN. THICK
CHANNEL el tse « . *
18* o) _— ® @ Robert J. Amoruso, P.E.
ol Florida P.E. No. 49752
IO o%—_w:.:...n.ss U_O_.nm__v\ mmmjmﬁ_
ShaeEnidy, by Robert J
3’ 7* £5 "2 2% Amoruso
mnuwg £ OF % Date:
I%I.O R\ 2017.04.07
e 13:08:06 -04'00"
o
< e PTC PRODUCT DESIGN GROUP, LLC
PO BOX 520775 | LONGWOOD, FLORIDA 32752
FBPE C A. 20.. m.mwum
< < . IHZQM LDZW O_IH_U Phone: 321.690.1788 | Email: info@ptc-corp.com
DRAFTER DATE
@ FLOOR BASE CLIP TELL DOORS & WINDOWS, LLC,
- 8 — 12GA. GVANNEALED ST — 2905 WEST 11TH STREET, HOUSTON, TEXAS 77008
@ STEEL 108 MIN. THICK TITLE TIOGA DOORWAY SYSTEM TDS-D-KD-WS
JAMB EXTENSION ASSEMBLY ENGINEER DATE STEEL DOUBLE DOOR OS - IMPACT
16GA GALVANNEALED STEEL .053” MIN. THICK (CHANNEL) COMPONENTS
12GA GALVANNEALED STEEL .108° MIN, THICK (CLIP) TJH06/03/10
APPROVED DATE S BwG
TeELL MEG B el B RAB/20/17 | D 08-01018
D B N Era THoRE TARY, RELEASE STATE REV  JTER
Spectrum | Hodwores  [BEEMBSEEEE, MTHRD ANGLE PROIJECTION CINAL B
Brands Home Improvement vina i suos’ ik Ve @lﬂl SCALE NI T & ] [SHEET @ nc o




3.2 REV RELBBESTRIEN IIRN DATE | APPROVAL
MINIMUM HEADROOM DIMENSIONS | e
OPENING THRU  |OVER 8-0°|OVER 10'-0°[OVER 14'~0°|OVER 16'~0°|OVER 18'~0’ N i \ -89
HEIGHT 8-0’ |THRU 10'-0°|THRU 14/~0°THRU 16/~0°|THRU 18’—0|THRU 20°-0° i 097 —]
VERTICAL , , , i . ] 2.00 =
° A
HORIZONTAL . . . . . . ——— vz Z
HE ADRIIOM 19 21 22 23 24 25 -
1.38
3.00
(® FOR PUSH-UP OPERATION 6-1/2* ASTM AGS3 G40 GALVANIZED ASTHM A23 G0, GALVANIZED
FOR HAND CHAIN OR
_., HORIZONTAL ELECTRIC OPERATION 10 GUIDE DETAIL WINDEAR DETAIL
HEADROOM 10 172 NOTE: LEFT SIDE DRIVE SHOWN 10-1/2°
-
BRACKET .
] TOP BARREL ASSEMBLY 6-1/2 —I< 6063-T6
® |/ . ALUMINUM
* 5 5/8'—] 0,075 ALLLY 1/4" @ THRU BOLTS W/LOCK
VERTICAL gl 1= BOLTS & LOCK NUTS
HEADROOM A 0.563" SPACED AT MAX. 31-3/8"
w CENTER TO CENTER OF SETS.
= EACH SET CONSISTS OF TWO
B = T 174 BOLTS SPACED 6—1/4" 0.C.
20 1747 2.563" =1/ m.A- 2" X 1-1/2" X 0.108"
HEAD STOP « GALV. STEEL ANGLE
. . ASTM A653 WITH
59 0-25077 - . NOTCHES LOCATED
mwg 0438" 3" FROM EACH END
T ‘ OF EXTRUSION
— 0.017 ASTRAGAL
o 4 - b
J . B AN ASTM A653 SS GRADE 80 2
20'0° WITH FULL COAT OF PRIMER
Wodn i AND BAKED POLYESTER FINISH COAT
— 0,625
OPENING
HEIGHT YP N
(CLEAR OPENING) . i
DETAIL
s5/8'—]  |—
—5/16°
4 _ { v 030" ——{}—
I I ” !
mcaml\ e t Hmﬁ% AN I _ ¢_¢
B - M PR e ron o 7 “ et
GUIDE L . 0 7/64% ATTACHED TO CURTAIN
JAMBS STEEL JAMBS  RIVET WITH THE 137167 _ avrs N Y GUSSET  y1TH THREE STEEL RIVETS
q . ke BIDY %ﬁumv DIA. N | WITH THE BODY 3/16° DIA.
_M e } N /N 7/32'—]
A q =——— 1-1/8 R 7/32" -—29/64°
7 TYPD 29/647
—_—— sy e e
ASSEMBLY ASTM A653 G40 GALVANIZED
CS TYPE B
INSIDE ELEVATION WINDLOCK DETAIL
/////ﬂm—:%n l \\\\ /y THESE CONFIDENTIAL u%%:hmvmw_u mcmu%mmnwwmw DBCI CONTAIN INFIRMATION OF A PROPRIETARY ™ N/A DOORS & BUILDING COMPONENTS
//// 44& .n....LVQ \\\\ VHOLE FOR ANY PURPLSE LITHER TUAN THAT WHICH T8 NERCSSARY TIR PRLPARATION ot Nps  [marems DOUGLASVILLE, GA = CHANDLER, AZ HOUSTON, TX
MOV CENSS S 2 OR ENGINEERING WITHOUT THE EXPRESS PERMISSION OF DBCI WHICH MAY RECALL DOCUMENTS AT @ ©R000 DECI ALL RIGHTS RESERVED
/// Yoo SN, \\\ ANY TIME. N/A
s L Wz JOHN E. SCATES PE preuED Foash
= [ No 51737 .... = 3121 FAIRGATE PROFESSIONAL ENGINEERS' SEAL PROVIDED ONLY FOR N/& 26 GA, WIND LOAD, MAX. SIZE 20'-0° x 20’0’
= * ‘= CARROLTON, TX 75007 AT OF WEASLRE: B
= * | H = VERIFICATION OF WINDLOAD CONSTRUCTION DETAILS. N/A
Z39) STATE OF S FL PE 51737 R ww— SERIES 5000 DOOR ASSEMBLY
. o — TRAVN
2, O ALOROR, O/b.//ll TX PE 56308/F-2203 BRAY ALLEN |u/14/08] _ __|
Se U RNLee ) . e . CHECKED '
\\\\Mqa\ozF «A///// Digitally signed by John E. Scates, P.E. BRAY ALLEN [11/14/08 B _ —5000-08-0001 1
APPROVED T SoAL
iy Date: 2017.04.08 18:35:13 -05'00' “NONE _ W. T




CONCRETE WITH 2500 PSI MIN

2’ x 2’ x 3/16" x 12*

OR BLOCK FILLED WITH

2500 PSI MIN GROUT

ASTM A36 ANGLE

A

1-1/2°

4-3/8°

POWERS WEDGE
BOLTS

174" STEEL
MOUNTING PLATE

1-1/2°

w.

TwD 3/8°-16 x 1-1/4’
HH GRADE S BOLTS
WITH FLAT WASHERS,
LOCK WASHERS AND
GRADE 2 NUTS

GENERAL NOTES:
1. THIS DOOR EVALUATED IN ACCORDANCE WITH TEST METHODS ASTM E330-02 AND ANSI/DASMA 108-05,

m-
3.

4,
S

|_2-7/16"

ITW TAPCON XL
S/16° X 2-1/4° LONG
AT 47 FROM BOTTOM
AND EVERY 8‘ O.C,

EXISTING CONCRETE
WITH 2500 PSI MIN
OR BLOCK FILLED WITH

1-11/16*

.

0.10

THIS PRODUCT EVALUATION IS GENERIC., IT DOES NOT INCLUDE INFORMATION PREPARED FOR A SPECIFIC SITE.

IT IS THE CONTRACTOR’S RESPONSIBILITY TO VERIFY THE STRUCTURAL CAPACITY OF THE SUBSTRATE (JAMB)
TO RESIST THE LOADS IMPOSED BY THE ROLL-UP DOOR.

ALL DOOR JAMBS (MASONRY OR STEEL> MUST BE DESIGNED TO RESIST THE FORCES SHOWN IN SUPERIMPOSED LOAD DIAGRAM.
THE DOOR ASSEMBLY SHALL BE INSTALLED IN ACCORDANCE WITH THE MANUFACTURER’S INSTALLATION INSTRUCTIONS.

~NCMOUNTING SLOTS 2500 PSI MIN GROUT OUTSIDE AND EVERY 8" 0.C.
2 x 2' x 3/16° x 13-7/8°
ASTM A36 ANGLE ALTERNATE WINDLOCKS; = ) ALTERNATE WINDLOCKS; DOOR SCHEDULE
174" x 1* x 7-7/8" NOT ON THE SEAMED — ! NOT ON THE SEAMED
ASTM A36 FLAT BAR CORRUGATIONS . . g CORRUGATIONS DESIGN
5/16°—| |=] 174 INSIDE 14— ={ 5,16
=~ PRESSURE
DOOR WIDTH C(PSF)
FOR MASONRY JAMBS FOR STEEL JAMBS
CURTAIN WIDTH=OPENING WIDTH+6* CURTAIN WIDTH=DOPENING WIDTH+4.5°
CONCRETE/FILLED BLOCK JAMBS STEEL JAMBS +43,7
LH GUIDE MOUNT SHOWN < 10°-0*
RH GUIDE MOUNT SHOWN -
2" x 2’ x 3/16" x 12* 500
ASTM A36 ANGLE +39.9
11°-0°
-45.7
12-0° +368
4-3/8* -42.1
1o +34,1
\Y -
/u MOUNTING SLOTS OUTSIDE -39.0
2 x 2' x 3/16° x 13-7/8°
ASTM A36 ANGLE | +317
1/4" x 17 x 7-7/8" ! I 140 -36.3
ASTM A36 FLAT BAR :
R,= 1832 PLF R,= 1832 PLF 5o +29,7
- - -340
R = 267 PLF INSIDE R = 267 PLF
+28.0
16'-0°
CONCRETE/FILLED BLOCK JAMBS STEEL JAMBS -32,0
LH_GUIDE MOUNT SHOWN RH GUIDE MOUNT SHOWN
N +25.4
17'-0°
SUPERIMPOSED LOAD DIAGRAM -29.1
+23.2
18'-0°
-26.6
+21.3
19'-0*
-24.4
+19,7
20'-0°
-226
PART NUMBER:
NATURE AND MAY NOT BE REPRIDOCED DR USED Do N rea AN ORATION 0F' & PROFRIETARY N/A POORS & BUILDING o SO, T
WHOLE FOR ANY PURPOSE OTHER THAN THAT WHICH IS NECESSARY FOR PREPARATION OF BIDS |wremmss uncm_%nm&w_._wmwnnw_.rnﬁmm_mmmmm»wmm«_mu g J
mu<mﬂmh~mmmmuzm WITHOUT THE EXPRESS PERMISSION OF DBCI WHICH MAY RECALL DOCUMENTS AT Z \ } ®
JOHN E. SCATES PE A
3121 FAIRGATE 26 GA. WIND LOAD, MAX., SIZE 20'-0° x 20'~0°
CARROLTON, TX 75007 ,.mw»nza
FL PE 51737 T == SERIES 5000 DOOR ASSEMBLY
— DRAWN
TX PE 56308/F-2203 BRAY ALLEN [u/14s08| _ _
CHECKED *
BRAY ALLEN |11/14/08 _w_ —2000-08-0001
[APPROVED BT [ 3
NONE _ ﬂm. 2 2

STEEL JAMB

KE VI LN
RELBESCRIER TURN

REV DATE | APPROVAL

1 MODIFIED FOR TDI 1-31~14 BA

3" THICKNESS

ITW BUILDEX

SELF—DRILLING SCREW
1/4"-14 X 1" LONG
AT 4” FROM BOTTOM




o s u_
Al IS =
| =t =
o 45 [=°
oos n [l
4 (@) | [®]
3 o IR
[
—
|
—
O Z
(—
O Q
P
AH -ta-
m &
A S
=
M =
(]
T =
l
Mm ouw
M Wm_
— =z
D)
M
=
O
ES=3n043
m9ﬂ_llwu.
3 ¢ Qo 8
AR ele Yt
prI5= 03
Z%JHSW
®Q- 0w
2o 53
3 ®
8
3
8
E
B
1
(o]
z
<
&
ral
3
)

:
M.
ms:mﬂ”ﬂ:..:..
~
L 08
IR A
afiszlan O
S8R¢i0E\ T
g2 mw..__.g W
I EN =
REE SR S
s
¢ \ —v
.

09G6¢2g *'ON 'I'd
3'd MDIMAVHD 1OV :GFODTH 4O HIANIONI

Slivi3aa

NV1d 3dVISANYT

NV1d NISVE JFIVMNEOLS
NV1d ONIAVO

NV1d NOISNIWIA

NV1d dLis

aN393T $ G31ON

134HS ¥3IAOD I

XJdAN| 133HS

N M T 0 O N~ O

WOD usSwW@IIIgs|
€91L°2GLIBE
G202€ 14 "ALID IV
2l 1#aNA1a NIVWN MG 98902
D17 “ONIdIYW ANV ONIAIANNG LLrNd

RAOAINANS

woo jewb @ oAmadoo
2LL1'089°L0E
G202E H “ALID DIV
NI XVHIVd "M'G Q0¢ |
T'd MWOIMAVHD 103dvD

HIINIONT UAID

woo-00yeA@ g 9Y|adswos
2908 S8 99¢
T4 CALID IV
AvOod INOD1IM SAILSIS MG @192
134G WOL

"ONI

AAISNILNI VIDHINWWNOD - 1D 'ONINOZ '€

IWIDEEINWNOD 36N ANV FanLnd e
¥00-S¥620-2 | -Gt~ |
¥00-25620-9 | -G-€ |
S00-25620-91-G¥-¢ |

GADEvd ALS

G41ON

J1vOs Ol 1ON

4116 103r0dd dVA NOILVOOT

=

VArdoT14 "ALINNOD VIGNNTOD
16v3a 91 JONVY "HINOS ¥ dIHGNMOL ‘€1 NOILDIS

JOINSAS INJNDINOT # MONHL ALTILN

Wd 10:0¥3£ 610201/L ‘PP 3IN0D- 1 0-PE0R I IASNVIAGIAMP E0G | TALNINGINDI 7 YOI L ALMIEC ST GONONILINGHNOND

-



FEPL)

ALVA NOISINTY
aiva

"ON 1230

Qo
610¢ oI Anr
B

SLAUS

aNJ931 # 410N
ONI“3DIANIS INJNAIND3 # MONMAL ALMILN [7E08TT

2908’ +S8'99¢

14 "ALID IV
avod IN0DT1IM
GAAISIS MG 2192
T13dS WOL

¥Od QTdvdTdd

WO 00YRA D) 2 9jj2dswos

Ava

NOUJMEIGAA NOISIATY

oa---:-: »

A Y,
SR

s

m {2 o3 %m

.m.muawm.ﬁJ

Wm “w%m/um

$Egian (N
<ry

M Mm b ] _m m

rm

iy,
AW’ Ar\w\u.(wz@%%\\ \\

7,
NS0T, 2R
Ug\ . R\“
=h o=
=4 -
= Px =
= x RS
Z OF
%% S
O
2 \szo NN

ORLOTT AVIHAIAO ONILSIXE
SAILNILN AVIHEINO ONILSIX
JON3d 1S

ANIT¥3INAD

AN ALAIdOAd

dON3d ONILSIXE

AN LHOMAVA

(SIVYANILNI 2)
ANOLINOD ONILSIX3

(STIYANILNI )
YNOLINOD d3ISO40¥d

ADVLANS ONILGIXKE
AOVLENG AIHSINI

ONID9Id OL

AORd GANOH G+ 1 12 TIVD

VD INO J1V1S

ANIHENNGS, 966 ¥31dVHD OL
AONVYAAODDV NI ONI991A OL
HORd A3LOVINOD 3d 15NN
SAAAINOEL ALTILN 7TV <2LON

d0-
- ——dn

- — 345 —— 45 ——

- -0

— —{0gl) = —
‘I\\|,\
- —__—  ———
— 0| ———
- ‘sl
- 's'd

AN3ZOIT

MIIM ANINT IONO LSVAT LV dILDAdSNI

39 TIVHS ONISSYED H0 dOS HLM dazinavis ATIVNIS N334 JAVH LvHL S3s
HIIVIAD

¥O SAHONI 62°0 40 WAOLS V 40 ANT FHL 40 SANOH 2 NIHLIM ANV

SAVA AVANTTVD NIAIS AN IONO LSV LY "d3ZNidv.is ATIVNIZ NII9 LON
IAVH LVHL SVAIV A3d3n1sid JHL ANV F1S JHL LIX3 H0 ¥3INT SITOIHIA
TATHM NOILYOOT JHL ‘SIvE MYHLS ANV FONZL 11IS FHL ‘STTNIND0LS

40 JOVAOLG H0d dISN VAV IHL LDI4SNI TIVHS TAINNOSEIL A3IdITvNO
‘SAAVANYLS ALINMVND AILYM TV HLIM ATdNOD TIVHS L1O3M0d SIHL

"AlNvVd AIAOWFY 3a TIVHS 1dld SS30X3

'SdaAVL HUM GFAIN0D 39 TIVHS SYDMEL 1NYH d3avol

HAOLDOVAINOD Ad G3AINOEd SRV NI HOLOVAINOD

JHL Ad 40 dIS04SIa 39 TIVHS 103r0ad dHL NO d3LVEINID JISVM TV
‘SAVA NIAIS NVHL FHOW ¥04 A310310ddNN 1437

39 VT4V d3gANLsid IHL TIVHS 3SvD ON NI LNG “‘d3d4015 ATININVNEIL HO
ATEVIOJNWIL IAVH SIILIAILDOVY NOILDMALSNOD FdIHM gOrr JHL 4O SYIIV NI
FN1AVIILIVEd GV NOOS SV dA1VILINI 3G TIVHS S3DIL0VEd NOLLVZIIdYLS TV
"ONIJAOS ¥0 S3TvE AVH 4O 35N HL HONOIHL NOISOH3

WO a3103103dd ATFLVNOAAY 39 TIVHS [:€ NVHL ¥3d4331S S34016 3dIS TV
"A314300V 3@ TUM JIFADNOD NINOAE ON ‘dFAN0IN S| dvadid

ANOLSINIT HO JLINVAD "SIITLNO Idid NOILDITIOD ANV SAWNTL NOILDATIOD

TV 40 WOLLOd JHL LV Qa0V1d 34 TIVHS dvd did 3194y JO dvd Vv -

"HOINW SO/ANY J3INAO0D ONIMOAD-1S5VS

AAVAOLINIL V HLIM ATZLVIAIWWI d3ZiNigv.is 39 TIVHS SRV ddaved TV -

"INFNIAES SSIOXI ANV SlEdad 11V 4O daNvATD 3d TIVHS STANLOMALS

TV ‘LINOD Sl NOILOMALSNOD ¥A LAY ANV NOILOMALSNOD ONI¥NAd
‘SANVILAM dIINT AV VIV d3gantsld WO JJON(M

FAIHUM SvFdV NI IONIL 1TIS 40 MO 319N0A V 30V1d TIVHS dOLOVALINOD
‘SLAN LO3rOad ONIAVET

WG4 INIWIAIS INIATAL OL 311G NO d3LvO01 3d TIVHS SION3d 1T1S
‘NOISO¥3 TO¥LINOD OL agdiNDIy SV d3dovid

39 TIVHG dVddid ANV dASSVE9 3d TIVHS SITVMS JOVNIVEA N3O TV
‘d3aHsidv.isa N33d SvH

YIAOD ANNOAD ININVINETL V TINN ANV 31T1dNOD SI NOILOTALSNOD TV
TUINN AIAOWTE 39 1ON TIVHS STANSYAN TOFALINOD INIWIAIAS ANV NOISOE3
"NOILDMALSNOD ¥IHLIO ANV

Ol HOR¥d a3TVISNI 2d TIVHS STANSVIN TOFINOD INFWIAIS ANV NOISOEE
"SAIDNAOV ONIMIIATY FHL A AIAOEddY Id

TIVHSG SNOIGIATY ANV "SNOILIANOD aald IvNiov L33 OL SNV1d 3S3HL NO
NMOHS STANSVIW TOAINOD ISIATE ANY LSArdy TIVHS JOLOVEINOD JHL
"SNOILY1N93Y TOAINOD LNIWIAIS

ANV NOISO¥T ¥Od4 SAILIMOHLNY ONINAIAOD ¥IHLO ANV ALNNOD NOLTAVH
*LOMNLSIA INFNADYNYIA FZLYM JIAN FJINNYMNS ‘NOILVIIOISNYL

40 INFWIHVLIA VA0 JHL OL IHIHAY TIVHS AOLOVIINOD JHL

IVONYA GRAOLDILSNI TOHLINOD INIWIAAS ANV NOISO¥S

VAROT, IHL ANV JIVANYIN LINSNGOTIAIA vATROTd, IHL O SINIWTHINOTA
FHL HLM X1dNOD TIVHS 10 INOD NOILVYINIWIAES ANV NOISO¥

6l

21
/1
‘9
‘S

Sy

el

KA

GA1ON TOALNOD NOISOS

TYNOISS340dd NOISIA IHL 4O 3DNIDNDAN

F10S FHL WOHL ONISTIV ALIMTIAVIT ONILJIOXT “103rOdd SIHL NO YHOM SO IDNVINIOLAd

JHL HLIM NOILDINNOD NI ‘da9ITIV ¥O TvAH ‘ALNIGVIT TV ANV ANV WO¥d SSITNIVH

TVNOISSIJOEd NOISIA dTOH ANV AJINWIANI “AN343A OL SITHIV FIHLANL JOLOVIINOD

NOILDMALSNOD IHL "GANOH ONINIOM TVNJON OL A3LINIM 3d 1ON ANV ATSMAONNILNOD AlddV

TIVHS INFWTAHINOTY SIHL "ALNIdOdd ANV SNOSHAL TV 4O AL3JVS IHL ONIAMION! “103rosEd

JH1 4O NOILDMILISNOD 4O JSANOD IHL ONFING SNOILIANOD LS Ol ¥O4 ALITAISNOJSTY

JLTHNOD ANV T10S IWNSSY OL ATIINDTY 3d TIIM FHSAH ‘SADILOVIL NOILDMILSNOD
A314300V ATIVAINIO HLM JONVAAODIV NI LVHL SATHOV JOLOVILINOD NOILDMALSNOD FHL

HOLOVALINOD OL ADILON SHIINIONT ILVAR

"GAIDNIOV ININAINOD FHL AD TVACELLY HO4 SNV 2HL ONISIATS ANV NOILMOS 31814300V

NY ONINIWHI1IA HO- F19ISNOJSTY 3d TIVHS JFINIONT ILVAREL FHL "NOILDMALGNOD

ONIINA ONISIAY SAIDNVLTAOSIA 4O INIAT FHL NI "NOFHTH NOIS3A IHL 4O ALNIGVLdIDOV ANV
ADVANDIV FHL ONIEINSSY FO4 T1DISNOJSTH S) SNV Id ISIHL ONINDIS HIINIONT ALVAIRL JHL

'SNV1d JG3HL JO dTAVATAL IHL AD AIAOCELJY 39 LSN ANV ONILIEIM NI

39 1SN SNVTd IHL OL SIONVHD TV "SNVId 3G3HL 4O G3SMN ¥O OL SIONVHD AIZIJOHLNVYNN
“¥O4 T1AVIT O "0 F1AISNOLST 3 LON T1IM SNYTd ISTHL ONIEVLITS WIINIOND 2HL

‘NOILLNVYD SIS ANV SIONVHD dIZIHOHINVYNN

VALY SNONYA13TAA ¥FHLO ANV T0SH0L ‘srédad ‘sadam

40 AFAVATO NZ3d GVH ANNOED AHL TULINN ANNOAD ONILSHXD NO d20V1d 3@ TIVHS 1114 ON '@
‘NOILOMELISNOD

ANV Aid OL FORd SAILNVNO AIMAA TIVHS JOLOVIINOD "AINO SILVAILGT FdV GIILIINVAO "2
‘A31FTHdNOD Falv SLTING-GV IHL TN NOILDMILSNOD ANV 4O INFWIDNIWWNOD JHL OL

A0 NY1d TOILINOD NOILVINIWIAIAS ANV NOISOYT FHL OL THIHAY TTIVHS JAOLOVYINOD JHL 9
1334 001 4O HIONIT WAWININ vV 3G TIVHS INIT MO 3did Gl 3ave9 HOLIA TVINSON WO
NOILISNYL AHL “3did V 3LVAOWWODDV OL TYIWEON NvHL 34330 3@ LSNW HOLIa F¥IHM °G
"dIONVHD 1ON Sl ¥3LVM 4O MO

JHL GV ONOT SV SIHONI (9) XIS 40 WNWIXYN YV a13I4 HL NI dILSArdy 3d AVA c1aved 1Y &
AILYM ONIAIZOTS IHL NI ANV

SANV1 INIOVIAY OL NOLVININIAIS ANV “ONIGYOT INAELAN “ALIQIGAENL ‘NOISOYT IZININIW OL
NOUID(TILGNOD INRANG STANSYIN ASVSSIDIN FLALILSNI TIVHS BOLOVIINOD/AALIIWSTL FHL "€
1NNV HONOYHL MddY WOL 1F7TIW HO

HOAVIA HONOEHL d38NWI1d3S WO AN ¥ILNIM JO LSISNOD TIVHS ANV DV ¥3d SANNOL 02
40 J1va WNNININ Y LY A3MNddY 39 TIVHS NOILYIIOIN W3 L-TSOHS JHL "THOV ¥3d SANNOd 0L
40 21V WAWININ Y 1V A31ddY 3d TIVHS NOVIZOIA WHZ1-ONOT JHL "NOILVIIOIN WHIL-1HOHS
ANV NOILVIIOIA WaA1-ONOT 4O TANIXIN V HLIM A3033S 3d TIVHS SvIaY Gaganisia T1v ‘¢
YAOM JHL HLIM ONIAFID0EL

OL ¥OREd ANV ANTELVIAINWNI SIONTATLA dIVS JO HIINIONT THL ALILON TIVHS JOLDVALINOD
JHL "GNV JHL NO NMOHS 2SOHL O1 AMVALNOD TV LVHL 1GIXd SNOILIANOD ANV ATNOHS
"SNYId IHL NO GIANZLINIFAINNVIN IHL NI LIS TTHM YSOM TTV LVHL FJHINSNT OL NOILDNYISNOD OL
ORI 316 aOr FHL LY SNOISNIWIA ANV SNOILIANOD ONILSEKE TV AJI¥AA TIVHS YOLOVHEINOD |

GA1LON G¥IINIONI

Wd 92'6€:£ 6102/0 |/ *B¥P"SALON-Z0-FEOR 1 TASNYIAGIMNAWEDS | TALNIWAINDI 7 ¥OMYL ALIILONSTIIS ONONILINGNON D



I

J0IA33S INJNJINDT $ YONSL ALMILN|[Fe0eT ]

Qo
133us
2LvQ HOISINTS
6102 Of AP
alva

GLTHS

NV1d JLIS

T CALID IV
aAvGoy INQDTIM
. ‘
TSRO ONI

c90Q +Se'99¢
SAIISIS MG @192

WO 0oYeAD) 2 9|2dswos

Alvd

NOILATIDGAA NOISIATY

P
»

ONINGAMN @ YORIO 1S
WO SIWMPEUINCIED M
-pewS@ofimadas
Loy Loc

wWo

€707 1 ‘FuD) e
us) xepie | WG 9021t

A4 WIMAVHD TONVD

001 =,! VIS

oo o

VoW S0P TEN: SUELT,\\\15

4S JMROII ONILSIX

I

SUNS

AOINES D1410313 ONILSIXE
AN TUM ONIATING dISOd0Ed  *9

W31SAS

OlLddS ONILSIXA OL LOINNOD

TIM ONIATING d350408d
ONIATING ONILSIX3 NI ¥3LVM

O1 LO3INNOD T1IM JDINAIS ¥ILYM
LIWdEd JIVaVdIS ¥3dd NOIS

N

ANIL INISTHd LV Ad50d0Hd

Sl ONILHOM 3116 JO0diNO ON

ol

NOILYOOT GIHL 1V ¥31sd4NNd
V 350d03dd LON G300 ¥3INMO  * |

S31ON

ADVLS dVIIANYH | ONIGNTIDNI LT

GAIVdS ONILGIX

20VdS dVDIANVH | ONIGNIONI GIIVJE ONINEYL GTAINDTN £ 1
d'QT7 ALNMQD VIBWNAT0D " 71 NOHLDAG ¥3d

GAIVdS Q:INOTY

ONNEYY

SHAIYL 6 ¥ '4'C €96

VAY QA60408d

CAML S = 002/ 46 0LE
‘4G 0LE6 = %01 . '4'C 00LE
¥'A"1 ALNMOD YIGNWMIOD "0t 412"y NOILDES ¥3d

ATNOTA

ONIdYISANYT

=

oy, SI0vdS ozv_N%L
\ 4 amINoTy WENINIW
s /
Vs
4

-PAVA 290 29142 SNOIAEIJINI dASOL0¥E W.LOL
691 L1'0 009L dLRADNOD
S’y 290 2966 | INFWIAVA LIvdHGY
09" 410 QoL ONIGING MIAN
VAV SNOIANIINI IS0J0dd
69’ | ol'o OElL GNOINGZIWI ONILSIXT TVIOL
02’0 200 GL9E SAVAMIARIA # ONDRAYL SSVETIAVED
90 400 §50€ SONIQtng
IE'0 £00 ool ALTIDNOD # LNAWIAVL L'IVdHGY
VgV SNOIAYAJNI ONILGIX3
Gl VE' | RS VRV JONVANE LG vIOoL
200 ooR VIV AONVERINLSIG 4G 440
sq@'el 2e 1 9L Viaav AONVEENLSIE LG NO
[ole]} OOl G'699gviy VIV 0¥V
VOIGNVH | SNIGNTONI LS 40 % 53OV 1234 TVNOS VAUV ALNIJONd
ga01n08d YiOL _ - - -
NOIEWH 028 0T W IOL T4 ALID VT 'AVON FWODTIM SHILGIS MG @192 seI¥aav
\ V.04 WITHINNOD I8N OGNV
mﬂu\mv._n:zu O 3AVH Tim geaNieng oreLl JOHS
7 AISNZLNI WIDIINNOD -1D ONINOZ
’ 000! ¥3d | [s]051 AVISIA ¥00AaLN0 o000
008 | ¥ad | 0512 2OVEOLEIASNOHTAVM FO0-S¥620°9 [-SH €| $ ¥O0-25620°9 I"GvE | 'S00-25620°9 1 -SH€ | FIQNNN T30V
46 ¥2d 530vds 'S VRRY JAL (asn oniana) 4'S “QILONYISNOD 3d OSTY TIM NISYE JOVNIVEA MIN ¥V *AITIVIGNI 38 TIM
ONIRVE ATINOTI WANIN | ADNYAND20 AL AINVENI50 VIV WIOL | o aYd HLM VINY JAAVA ¥V HLOG@ MO GILOMALISNGD 38 TIM NOYLY JLTNONOD OF ¥

7

SLINIWIAINOITA ONDRAVL

"d3LONALSNOD 3d TIW ONIATING ONILGIXZ NV B0d AJONYD 02 V ONIAING "4'S O0ZL MIN Y

Wd 1 €1LEL 610200 1/L 'BMP' IS E0-1E0R I TASNVIASIMMY £0G | TALNIWAIND3 # NONYL ALMILMSTIS JONZHILINGNODY D



S'ITON SVINSOLNMVD ¢ NOORAC NOLLIRIDGIAA NOISIATY

ot

| IO S VOROW. - WO 00UeA D) Z9N2dswo SE 1334
worpewS@ofimodas 2908 VS 99t
2LLvorg Lok 1 ALD IV V—l O g 31vQ NOISIAT
b
:ID j:!'il I:A'DS?’I 1 avoy anootam N d N I Ng V\l IC] 6102 ‘ot Anr |
2orrioiiccsy s SIISIS MS 8192 -

A WOIMAVHD TONVD

s 001 NI “30IAN3S INFNAIND # MOMNL AL [PEORTE__]

\4\
50
50

7
7
X
N

\§

N

Wiy,

N <) I
|3 62 / .
.
/ JEE / |
S /_ 3
I . TN s~
\ SN 74

Wd EG'9E:L 6102001/L 'BMPWIA-YO-tE0B | TASNVIASIMAVWEOG | TALNIWGINDI # NONUL ALOLAMSTIE GONONILINSHOND



‘S'TTD’N SVINJOINVD ¢ NOOISO NOILIANIDGAG HOISIATY Ava

QoG

ﬂ;qamp:gvgzm S woo 0oyek @ g 92dswos SLIIG 13IHS
wopewS@oiimodss 5: '

TLL1099 Lok
£7074 [ Pu D) o]
vy epre MG 90T 1

2 )2147%&( / PraPc

A4IMAVYHD TONVD

2809 ¥S9 99€ |
. AULVA NOISIATS
avgé i\vl\lg:)?gx NV—IC] ON IGV}I@ 6102 0l A'lgll;ol

SAIUSIS MS @192

25 00N *JOINNIS ININGIND3 3 YOMYL ALIILN [FE0eTe_ ]

\ “‘

30

o
15
SCALE 1"=30'

TH2e

117.0)EG.

\
%
12y

%
119.19F.5

-

118.28 F.5.

119,68 F.5.
(118.96) E.S.-S

&
&
w g
O
€@
o
o

118.25 F.5.
19,11 FS

\—(I 18.51)E.S.

!
123)
'(

121,48 F.S.

SW SISTERS WELCOME ROAD

120.17 FS.
120.14 F.5.

1.00%
L
(118.33) E.s.j

g,

120.23 F.5
120.11 FS

e

(IIB4I)E5-\

811

ine

[s
%

Sh

sl

Wd §1:9€:L 610ZK0 1 [L "BrP ONIGVID-SOYE0R [ ASNVIASIMAWEOG | TALNINGINOI ¥ ¥OMEL ALIILAGHTIS GONSNIINSNOND



[4}] ]
i m Wm 6 OE=.1 ITVIS ~ M=
0 9 J i - - ’
ol L o gauIsuns
s [ O
> .
n g Dawo vty T, ...u. Yo
m =3 i S e X ST SRR
o fi> LTINI L¥3AIND LY NOILVATIS el
S O'Z1 | OL NIT4a OL HOLIQ 3avaO T e o 930LI1)
_.Ml ( [ STV S T bk RIS PR Ay J ‘C411611
— o —rredQ=———rrig = E 0 : =" e 2T I8 = g5 S 4§ = =
79 ( | W) A
= . @ . A 5
I Q 321 ONILSIXT Fou.rom_m{\k\ __ Mk /Iw,q\s,u_o#r@_m_ JHL NI FIEIEN g4529lI~l |
> - $ S s ——as S o vaavY dagynisia v aos _
g n |\ . %..,..v/ £ [ e
_ O : > o o.
U = / T4219l A sicly (Il
™m
= : \ ..V\ ‘
_H\W M _ S o P
- O ——— 11 b *
M o 940¢! 14+ o O / \
) . ~
= (&) , N \
5 e\
mes Enbres S3dO1G 3AIS "XYN T4 10°€]
§6z5004 l:¥ IIVMG aIave9
o 2 A
3009008 %
= < k]
aAIHsm3 o
e37Re" | s
iR 5y 94091 HE \ %
8 & IS — L
w ..lll.l.llll.ll.lll..l.l.\lh!\.\.\w, | T T o— (@
P 74 S —
— o\ 4 / 02 e
2 —— —= (%)
A e 0/ ‘646161
\
] o (1) cde96l!
g 1z =
o —i—
: >
M .
2 'SV 31V JONVANGNI
dOOTd ANV ‘ONIAIANNG LLRG AD SAIANNG 'SdVIN AVND S9SN WO¥L 51 dasn vivd '€
AV3IA 31vOS OL LON IVIS OL LON
ANV NI d30330X3 ONIZd 4O 3DNVHD % | ¥ ONIAYH QOO 3HL S GO0 ¥YIA 00| IHL "2 aBER e e
X.* &@ "OADN OL ZONF¥IJTH NI TdV SIOVLS ANV ANODIS ¥ad L334 D18nD NI Fav 1ivldd 1F1no V-V NOILDIS NISvd
W %% SIDAYVHOSIA "GANIVLLY 38 LONNVD HOIHM NOISIOdd 4O NOILINNGSY HL LGNIVOY NOILDIS-SSOND 05+ 00+
2 OAcE||  QINOILNYD TV V1vA SIHL 4O S¥38N 38N ANV ANY ‘NOILYZITANNYHD ‘NOILVZINVENN 4 0|
™ 1 'SNOILIGNOD INIAZDALNY JO ATAVINDILAV ‘SIONVHD OL JAILISNIS Sl VAVA LNVLIINGTY 2dd ONd ¥ O
oS ! AHL 'S¥OLOVA IGIHL HSINGYLST OL dTHINDITY 3V SNOILIWNSSY ANV SININZDANT TN
ANV “QZHSHILYM FHL 4O AGNLS V AQ GINIWYILIA SHOLOVS T1GVINVA ATHOIH ONISN _’ 0l oll
T Q3LVHINID SYM VLV SIHL "¥VIA NZAIO ANV NI QILVLIDILNY 38 AV HOIHM SNOILYATTE 2 —
¥ILVM 2LYDIANI OL S3S0JNd IWNOILYWHOLN] ¥O4 NMOHS GI VIV DINNVEAAH JHL  * |
5 _AM NOILD3S ONOT
¥ * =
HTRTLS GI1ON TV&3INID 0'91 [=ATIWOLIOa 0T [
88 &mwm \Q NOISONA INIATH OL ONIQVAD RFTTIETRT"" 0zl = A e ozl
de ¥ 3o¢ ¥3L4Y ATALVIAIAWI 030A0S ¥O a3a33S 3@ TIVHS Syl 42a¥nisid aLs-440 TV '€ OLIT=TMH
M Ot Jwv
wm 150 NT '21IS JHL NIHLIM GNOJ NOILNILZY 3HL O1 NIVEA TTIM JJONME TV LvHL 2did INd
sEY RN = OS ANV NISVE JHL NI NYHL ¥3HIO SANOJ 3LV ON LVHL O d3aves 3d TIVHG 3Ls ‘2
05§ ¢ fam 0 "dVa-did ANV 110S N3amiad aIovid G'LI1=AT13
a e 3@ OL D1¥@VS ¥211d JUIXILOTD "MOIHL .2 | 38 TIVHS SHAAVT dVai-did T1admy | YIM 2
. v o _ 0g | 0g |
: G31ON F9VNIVad

Wd Z2i9E'L 6102101 /L *BrP NISVG-90- V€08 | TASNYIASOAMWY EOF | TALNINAINGI ¥ ¥ONYUL ALNUMGSTIS GONONILINGNOIND




G L
133US

S1IIHG

A1VA HOISIATS
ava
ON LOIrOAd

610¢ Ol AInf
4

NV1d IdVOSANYT

ONI 30IAY3S INIWAINDT $ YONNL ALMILN [PEoRTT

woo-ooueA@ g 9li>dsiwos

2808’ vSQ 98¢

Td ALID TVl
avoyd INoDT1am
SRIAISIS MS Q192
TI3dS WOL

¥0d GIeVdTid

AL¥a

NOUWJRIDGIA NOISIATS

-.::-::-

ERD

wooadpupeyIED MM

'S'TTIN ¢ VINIOINVD ¢ NOOTSO
ONINOMN ¢ VARIO WS

rewSepofimodss

LLrovglog
£70Z7€ 714 ‘B D) oqeT]

wo|

k4

u% MG eozt
TIWIMAYHD TONVD

€

02 -2

Ol

HMYHS WNINANTL YNy
ANAHS SNJ¥YI0a0d
dMAHS SvIAvZY

ATYHS WANANGIA

>

St

Ol -

S

JTAL NN¥LENON
J34L VITONOVYIN
43341 ATIOH

.MI_

NOTV9 ‘3zis

QYOE ENOITEM SHELSIS MS

1HOIFH

NI ‘3216 ¥3dITvD

ALO

ddAL INVd

TOANAS

Q€= JIvO8

o¢ Sl C

11 BUISUNS

d1NA3IHOS INV1d

()

TS

SNIVIA ALNILN

WO TVINOZINOH @ WNININIW
v 2@ LSO (D S8Y10) 5331 39uV1-
SNIVIN ALIMTILN WO

TVINOZIIOH .S WNWINIW ¥V 3@ 18NN

\ (@3V dAL SITAL HIMOND TIVAS-

sh¥g3aa

ANV HSYRL 4O 3334 L3N 3@ TIVHG aNY

SANIL TV LV FONVAVILdY ATNIANO ANV

LVaN ‘AHLIVAH V INISTNd OL AINIVINIVIA

39 1SN SVINY IdVISANYT “IVINILYIN

INV1d TIV 4O JONVYNILNIVIN ANV INFAHSINEY1S3
FHL A0 FMHISNOLSTY SI ¥A4OT1IAIA/NINMO AHL ()
QZINOTA 3@ AYW ONITHINOVE

ANV NOILYAVOX3 "IVINALYWN SNOINNELNT ANY ANV ‘si¥gaa
NOILOMALENOD OO NI 40 3 3@ OL 6d3d INYId 1 (1)
QIAINOFA NYTd NOILOILON JT¥L 4O WYHOVYIA "NOILDMELSNOD
ONIRINA QIAVS 3G OL S3TL ONILSIXZ WO AFVINOIN NOILDILON (U)
(10°€€ AN 'WYHOVIA HLIM JLVDIONI)

FIONVRIL ALMIQISIA LIS NIHLIM AFRINDTY ALNIGISIA AZLDNYLSEONNA (B)
S201AIA MOTDIOVE TV ANNOYY AZNINDIY ONIJYISANYT ()

'SA3Q INVd NI 3LVAOJ¥OIN|

LON G321 TV ANNOYY GINIVINIVIA 38 OL HOINW 40 ONRL € V (2)
SAFALINMAL-TIONIS TIV HOS ATNNDIY ONIMVLS (P)

GIRINOIY IOVAIAOD NOLLYDINNI %00 | (2)

a3 INVId 11 NI HOTNW O W€ 40 WAWININ Y (4)

ALITVNO 1 "ON VARIOTd 3 OL IVRIALYN INVId TV (E)

SALON IdVOSANYT

fa

Wd 10°0€°L GIO2/01/L ‘['MP'QJVDQGPNI'LO'VEOQl'LJ\SNVIJ\Qf)MO\VEOQl'lﬂ\LN!WdlﬂO]  NIMAL ALNUMST 1Y GONONILINSHOND



Q K Q

J33HS

SIIIHG

21¥A NOISIATE
aiva
ON LDArO¥d

610¢ Ol Af
4

Sliv.1ad

"ONI “IDIANIS INININDT $ MOMHL ALMILA{#e08 !

woo-0ouel @ g 9|jedswoy

2808 58 99t

T ALID IV
avod IN0DTIM
GAEIICIS MG @192
T3S WOL

¥05 OTAY4TAd

alva

NOULTEDSIA NOIGIATY

‘S’ AN SVINSOJNVD ¢ NOITSO

ONINOAM ¢ VORIOTS

WOT FRMPELIOIED" MMM
renSgofimodos

.—..:..:..:-
(/

I8

e *
g £
»

wozp

D&m\\\
«.:N
Lt X2
oy "

221099 loC
£z07¢ L] D) =]
v xapne | MG g0T1

o Siep PR,
TdWIMAVHD TONVD

T

31vOS Ol LON

TVIIA TIVIS ONDEVL dVOIANVH

VGBS GUAVANYLS vaadad

40 0216 | 3AvHG HOLVW OL AaLNIL

3@ TIVHS SONMEVIAL INZWIAYC N8 "7

"HOIH 14 S ¥O € 3@

TIVHG TOQNAS DINAVYL A3ddVOIQHYH '€

Tvis

DNV 4O AAIS 1471 O LHOIN IHL NO

Aa0V1d 3@ AVW TGV AddVIIANYH S 2

‘N9IG JO WOLLO4

OL INAWIAVYL WOE4 £ 39 TIVHS LHOIZH

NOIS "GADVdG AAddVDIIANYH dALvMNOIsaa
TIV 4O INO¥4 N @30V1d 3@ TIVHS NOIS

ALHM ZAISNLE

136 3nd .9

('0°0 «@v) SIYNOOVIA
ANV J3GE0E ALHM O

(AL JLIHM ¥

\\\\

) Ol

GNY1d NI @3LVvDIaNI
TAIHM G4OLS TIIHM

41vIS OL LON

TIV1EA NOIS DNV dVOIANVH

"'GANLYLS TWOOT ANV JLVLS HLM
X1dNOD TIVHG INIWIDVTd ANV
NOISAA "NOILDMILSNOD NOIS

NI,

AV AIHSINIL

00°052% = INId
GG dld N9IS

AMG ALDTTAT

(s 1 ST HMm

WG27 | ANLOTILTY

4
‘ ST D, GANAG ST

AUHM IAILDTTHTY

ALHM IALOTLT
ALIHM IAILDTTATE
MG IALDTLTS

Gc-dLd NOIG

JIONY

WANININ @ ‘NOILISOd TVDILAIA OL
A3NTLHOIL NIHL “TT1ONY NV 1V ANNOAD

NOILO3S

MO LIS
oniavd ¥aLd

ORiav4 ¥314 I0HAL Y
AL WO HGIW ALLNOL

MOT4 advMOL .02 ,

GILNYD) NOILISOd _
1604 T1dIDHIE j\l
02

pli-rhy

.

J1vOS OL LON

TIV13A ONIINY 14 ANV ONPDIVLG 33l

41k

TANLXIW T10S ONIINY1d

HIAAYT HOTNIW WNAWINIA W2

¥IDNVS WIO4 OL ANNOW

33¥93A 021 1V SHIVIS "HIONIT

OINI NIARA GDIVIS € X - €

H19NIT .9 “3dVL
ONIDAVL GAOAIAANG JLIHM

TAIM QAZINVATVO JOMVD 2 |
‘ISOH DILSYd O ¥3Igdny
AIDYOINIFA X1d 2 - wiiE

“3dVHS TIVANLYN NIVLZS
‘Gy3aval ON WML ‘SOIML
A3ANrNI ANV Av3a JAONIY

JVOS OL 1ON

JDONIL LS Al 3dAL

('03dg 10ad 596 D33 HUM

Ny

1HOIAH TIVH3A0

o

TONYINOLNOD M) NOILYATI3
Dl¥av4 WAL 9 g ]
o ~ NN @ |
\\ 4 _ ¢ _
4 4 > w OW A0 S
@

(0345 1004 —]
0SS 23S * 1Sk "ON XIAN) —.cE
On@vJ 30NZJ ¥ JdAL ¥O _ NIW “Lifeen €71 1331
(MW 'V902) HGIW A41TN0d _ YN DI Via .€ AOOMA¥VH

GNOILISOd 1604 TYROWL0

(-03ds Load

0SS D36 ¥ | GF "ON X3ANI)
DRIAVL IDNIL Y AdAL ¥O
('NIW "V902) HGIW AJLTNOL
SNOILISOd 1S0d IWNOILIO

I
W Xy AOOMIHLOS
VId ‘NIW & AOOMLL0S
{SNOILJO 1504

Wd L2:62°L 610201/ "B¥P'SIYLIA-B0-PEOR | TASNVIASIANW EOF | TAUNINGINDI # MOMAL ALTUGE 1S dONINILINSNG



